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[=Lva =% X ATEHh 28F(MitE | 27 FE{fitE | ETEZE
1 -3 hRE (FIAETSTHE1118%F74 IF1&EI3—5—18] 81,700 81,000 0.9
2 i —10 hRRE |BF2TH7%E6 75,700 75,200 0.7
3 FR—11 FRE |#H4TE80%E38 I#HF4—7—8) 94,100 93,600 0.5
4 Im—4 TR (@b R2TH4617%F9 &b R2—-5—-10] 40,400 40,200 0.5
5 BH—1 HR (EPHFIU4TH242%32 TRFHFIL4—-3—11] 67,800 67,500 0.4
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g1z R B X P7E 3 284 (fitg | 27 &g | £EFE
1 FR5—13 PR [FR2TH1997&1 FH2—3—6] 235,000 230,000 22
2 FH5—-10 hRX |EKE1THE148F [RA@E1—7—28] 200,000 196,000 2.0
3 g5 —12 fRX |JE2zANE1TE286F 14 TE2ZNE1—-33—21] 103,000 102,000 1.0
4 HhH5—18 hRRX |FEHkE1TH436%6 EHEXE1—-10-3] 99,400 99,000 0.4
5 hR5—5 FREX |RAERET73F 14 THRARETO—11] 102,000 102,000 0.0
5 hR5—6 hREX (BAE2TH46%2 [BARE2—2—14] 121,000 121,000 0.0
5 g5 —7 hRR |BEHRA4TH761%H5 BERER4I—2—-28] 86,100 86,100 0.0
5 hf5—8 hRE |KLUS3THE600F74 IKXL3—2—11] 193,000 193,000 0.0
5 FR5—16 FREX |BWHE1TE614%F434) 92,100 92,100 0.0
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1 hk—6 PRX (PRIEETS54%F 156,000 156,000 0.0
2 hR—8 fRX |KEET2TE808%F17 141,000 141,000 0.0
3 g —1 PR |EAEEMET2TRE111% 125,000 127,000 -1.6
4 PR—4 PRX |)IRET1T B 521 121,000 121,000 0.0
5 fk—14 thRX [$81TH70%& 1$81—9—6] 117,000 119,000 -1.7
5 FRR—19 HRR |PRETEIEET5322% 120 117,000] 119,000 -1.7
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B4 R B X P73 28E(fitg | 27 &g | £EFE
1 hf5—2 FRRX |RKXE1TE25%5 [RX#E1—2—30] 545,000 555,000 -1.8
2 hR5—15 hRE [RKIL3THE572F24} Mk1U83—1—53] 270,000 273,000 -1.1
3 PR5—1 PR |HELE7EE940%F 144 248,000 251,000 -1.2
4 FR5—13 hiX |[FHR2TH1997&1TH5HK2—-3-6] 235,000 230,000 2.2
5 FR5—14 hRX ({EET2069%F 227,000 229,000 -0.9




